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Paper Code : I1-A & B
[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |IIl|A |& |B

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 16 Time
Choose the correct answer.

Each question carries 1 mark.

1. Which among the following is also known as bog moss?
(A) Riccia
(B) Sphagnum
(C) Marchantia
(D) Funaria

S| NI6E (&G ‘Bog Moss® wIIt: #ifdfbw?
(A) Riccia
(B) Sphagnum
(C) Marchantia
(D) Funaria

2. In some of the liverworts, spore dispersal is aided by —
(A) elaters
(B) peristome teeth
(C) indusium
(D) calyptra
3| g Liverworts-4 9 R sw2imel e —
(A) elaters
(B) peristome teeth
(C) indusium
(D) calyptra
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3. Find the true statement about bryophytes —
(A) They have chloroplasts
(B) They have archegonia
(C) They are thalloid
(D) All of the above

[ e

© | Bryophytes (& SIS (0 A0S —

(A) Chloroplast-<3 T#if%fe
(B) Archegonia-€3 &%
(C) Wt egfes

(D) Tt Aaafez

4. The antherozoids of Funaria are —
(A) uniflagellate
(B) biflagellate
(C) multiflagellate
(D) do not have flagella

8 | Funaria-€% antherozoid o 21 —
(A) uniflagellate
(B) biflagellate
(C) multiflagellate

(D) (I FFICGrel ANCF <
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5. In Pteridophytes the dominant generation is —
(A) gametophytic
(B) haploid
(C) diploid
(D) triploid
@ | Pteridophyte-a3 @i« Wb 257 —
(A) Termram wil
(B) haploid
(C) diploid
(D) triploid
6. Reduction division in pteridophytes occurs during formation of —
(A) prothallus
(B) gametes
(C) spores
(D) sex organs
Y| Pteridophytes-4 2P feie @ 3@ 23 —
(A) prothallus
(B) oo
©) @

(D) sex organs
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7. Pteridophytes and Bryophytes differ in having —
(A) Spermatozoids
(B) Archegonia
(C) Separate gametophytes
(D) Conducting system

4| Bryophytes @3} Pteridophytes-43 ICx5 #1<F 2o1 —
(A) Spermatozoids
(B) Archegonia
(C) ffo=a gametophytes
(D) Conducting system

8. Phloem is without in pteridophytes.
(A) Bast fibres
(B) Companion cells
(C) Phloem parenchyma
(D) Sieve cells

v | (GRS (Fe @R fRfkfe @b @ 9w« —
(A) AT ©F
(B) > (A
(C) FIEW AiaaiEs
(D) Are @
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9. This serves as a connecting link between the angiosperms and gymnosperms.
(A) Gnetales
(B) Coniferales
(C) Ginkgoales
(D) Cycadales

> | TG G BAUIE-9F A T @ 7o —
(A) Gnetales
(B) Coniferales
(C) Ginkgoales
(D) Cycadales

10. Flowers and cones are similar because —
(A) both assist seed dispersal
(B) both are responsible for attracting insects to pollinate
(C) both are shiny and bright

(D) both are reproductive structures

o | FeT G cone-<3 W&y et 2oT —
(A) o [®i7 33
(B) o5t SRRl R

(C) b1 Tege
(D) T AZITS! I
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11. Which Gymnosperm group is considered as living fossil —
(A) Cycads
(B) Conifers
(C) Gnetum
(D) None of the above

>3 | Gymnosperm-93 (X GG G T —
(A) Cycads
(B) Conifers
(C) Gnetum

(D) T (DB T

12. Rhynia belongs to a geological period —
(A) Devonian
(B) Permean
(C) Carboniferous
(D) Cambrian

S| Rhynia-49 Geological period 27 —
(A) Devonian
(B) Permean
(C) Carboniferous
(D) Cambrian
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13. Birbal Sahni is a famous —
(A) Mycologist
(B) Paleobotanist
(C) Physiologist
(D) Phycologist

>9 | Birbal Sahni 201 <& AT —
(A) Mycologist
(B) Paleobotanist
(C) Physiologist
(D) Phycologist

14. Circinate vernation found in —
(A) Cycas
(B) fems
(C) A & B both

(D) none of above

58| Circinate vernation (Wl AT —
(A) Cycas-4
(B) -9
(C) A & B Wbi2
(D) TATER (FICANMDE 7
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15. Which era is termed as the ‘Age of Gymnosperms’ —
(A) Cenozoic
(B) Mesozoic
(C) Paleozoic

(D) Proterozoic

Se| (P era O “age of gymnosperm” G #ffve —
(A) Cenozoic
(B) Mesozoic
(C) Paleozoic

(D) Proterozoic

16. Coal & petroleum are example of —
(A) fossil fuels
(B) clear fuels
(C) alternative energy

(D) none of above

SY | T B (PG 26T —
(A) SR Gl
(B) ife@ grenfa
(C) Res gl
(D) (@A =
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P-1 (1+1+1) G/ 20 (N) SUP
2020

BOTANY (General)

Paper Code : I1-B
[New Syllabus]
(Supplementary)

Full Marks : 34 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Group-A

1. Answer any one of the following. 9x1=9

(1) Classify Bryophytes following Proskauer's scheme up to Class and mention
the diagnostic properties of each class. 9

(i) (a) State the distinguishing features of Pteridophytes.
(b) Describe the different types of stele found in Lycopodium. 5+4=9

2. Answer any two out of the following :

(1) Comment on the morphological feature of Selaginella. 4

(i) Write a short note on the sporophyte of Anthoceros. 4

(i) Briefly describe the characteristic feature of Funaria. 4

(iv) Write a note on origin of Bryophyta. 4
Group-B

3. Answer any one of the following : 9%1=9

(1) Define fossil. Discuss the different types of modes of preservation of fossil.

2+7=9

(i) With suitable diagram describe the reproductive organs of Gnetum. Name

an Indian species of this genus. 8+1=9
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4. Write a short note any two of the following : 4x2=8

(1) Polyembryony in Pinus 4
(i) Amber 4
(1) Geological time scale 4
(iv) Coralloid root 4
AIM
e - 5
1. @ (I @b e Teh s 9x1=9
(i) Proskauer-93 o SR ACARFIRG-9F (@ARTED o0l 93R @fs
el Cafigy 132 (eTea | 9
(i) (a) CBRTOIFRCET Srardtalan (Al @l
(b) Lycopodium-€3 KT =4 stele et Srard I | 5+4=9
2. @ el w 2eaw Tew wie ¢ 4x2=8
() Selaginella-a3 SEFHALENNS (A*Fy (310 | 4
(i) Anthoceros-93 (R Tfgwwa (! WIS | 4
(i) Funaria-93 sfF@ore @FEafe Srad I | 4
(iv) TR TesAfe sTerw MY Bl (@0 | 4
fretal - 4
3. (@ (I @I eve Ted 76 9x1=9

() SR Fre [fen aHiEa SR TREFCT Aafosfer G Fa1 2+47=9

(i) ToRE B Gnetum-93 SR 901 Wi | @2 Tfegr@ @36 SiFely
defed I (eTe | 8+1=9
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4. @ @I 5 dre Ted we Ax2=8
(i) #ENE polyembryony
(i) =r=9
(iii) CSTCATeTe o N
(iv) FIETCIC 36T

N N N N
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